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Note : (i) All the four questions are compulsory.
(i) All questions carry equal weightage.

1. Answer the following question in about
600 words.
‘Between the skills of listening and speaking,
initially we should aim at developing the skill of
listening among our students.” Discuss. Suggest
some relevant teaching-learning strategies (at least
three) to develop the skill of listening. How would
‘you assess your students attainment in this
area ?

OR

Language is an important tool to help the child in
the areas of communication and expression. In
view of this, how as a teacher, you would help.
your students to develop the skills of speaking and
writing ?

2. Answer the following question in about
600 words.
Differentiate between the objectives of teaching
intensive and extensive reading. Discuss with
examples the procedure you would adopt for
achieving their respective objectives.

OR
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Describe some important interests of a language
learner. What learners’ interests would you keep
in mind while selecting a story or a poem for a
five year old learner and an eight year old learner ?

Answer any four of the following in about

150 words each.

(a)

(b)

(c)

(d)

(e)

(®)

Justify the effectiveness of the learner
centred approach over the teacher centred
approach in language teaching.

Explain with examples how competencies
in language are inter-linked and
interdependent.

What should be the bases of selecting topics
for essay writing ? Suggest two topics on
which you expect students of class IV to
write an essay ?

‘Dictation cannot help in teaching
spellings’. Comment.

What were the basic considerations that led
to the formulation of Minimum Levels of
Learning ?

Discuss the use of Television in language
teaching.

Answer the following question in about

600 words.

Identify the major areas of learner’s language
problems. What causes these problems and how
remedial teaching can be used to rectify them ?
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